86-5 FTHZELMIATRTHTH

TSR

\

14 77 @) wAT A8 ARhKI =2,

[ BT F Ak, RE 56 GETH

BN 6938 5

an JL P R T80 A B an
Ja T 8 A AT S (XyZ) A



—. HHEF

%33 (Thomson) 2~

W, % X - 4R, 649 5
Oty F XS BIHT, Eh—Zibiks), &

FHITIX-GT R AP SR E R T A



F—/A~af
e*l, 1+cos®26

| — .
°* R%’m?Zc* 2

ANAX-ray a9 5% &

g
e, Mm——E T RFTRE
HF—ARTF (FHAZ)

INTFEF F— a8 RAFT-Zew gL B A, B
EXFay:

e »Ze m AN




PR AT
Jo TR X-ray ) i& E s X A -

2
| =221,

EfrL, 2EFHEETE—AL, Amd A
X-rayf& F) — 7 @ 4z A8 R R, HFaRAETH, L
WA IR A R AL AR FS, B

|, Z1, A= f2

f— RT I E T, 488 TAHZRTH, €5
H @A X-rayd) kKA £, —RCREE, RT A

R, ZIraTAZ, NBAHRARK, BRI
X



=. &ME-F

F(hkl) = Zj F 62 i(hxj+kyj+iz)

FRFAE (RSB T AT

F(hKDA % B & < AT 48 47(hKI), BP 75 &)

S BT AR aR AR Y 4i§l(xj,yj_2j)

W AER BRI WELR B8R E L 0k 09 kg 6T 5 AR

1848



Bp -
| < A2 (AN BEDE Ikt )

B E T F: | o<f2
AT BRATE AR L TIRREA.

W BB F o gtk T ik Aode RITA B F

. t X . t X
- 127 (--2)+4] i[27 (2= 2+9))]
F=|F(hkl)|e =4 =Y fe 4"
j



Xt 5 A, A T4 5 61 (KB XA 25,8 3 LT
RTA:
o= Ie- [F(hkI)]
F b, @it — P T
| (hkl) oc| F (hkI) |*= F (hkl) - F"(hkI)

:[Z fjezm(hxj+ij+|Zj)].[Z fje—27zi(hxj+kyj+lzj)]
| ]

=[Z focos2z(hx, +ky, +1z)]° +
J

[> f;sin2z(hx; +ky; +1z,)]?
J



R BEATH R T L ah iR M B R 2 —#2, 8L AT4
R T ACIE ST 1R R M ah ARG L5

2Kk AR — A ah LM, BPA R iE R T8
PATX Yz RS BATA AR IR
5 2R e At iR AR, o R, 3Tk
RFALBBATICE, THHHE, B35
LIME iR £ B A Ak,



B X IR IR IR AL R A FLA T AL R A
— AT A R G K I E.

BP: #74- A PAEHL,. RS R IL, #7448 8 H R,

T4 ﬁ%ﬂﬁwwéf5% I XA iR (425
AR AEG 5 )



5t TR — R, A BT A8

il
F(hk]) = f gi2n (U2h+12k+1/2D) 4 gi2 7 (0+0+0)

= f []_+ei T (h+k+|)]

= f [1+costr(h+k+l)+isintr(h+k+1)]

2p4%: I(hkl) o [F(hKI)P?

= f 2[1+cos 7t (h+k+)]?



= sr4kort®4L  sinmr(h+k+1)=0
tk+] = T3 costr(h+k+1)=-1

= 1BEK costr(h+k+I)=1
/n%’fﬁ': O (h+k+|:%§i)
me:{

2f  (h+k+1=1%%%)

0 (h+k+l=314&)

[F(hk1)[2 = {
Af 2 (h+k+1=1%4% )

Wb EATHHIET, BIFTEAT, F745%E A0
Sh AR A RS B AR X



BEA X G R G AR

RN N WA
s B () h+h+l = 314
s b (F) he k. | F18R4e*
oS EE (C) h+k = 4%
A FAes EE (A) k+l = ¥4
B &@m.s&M% (B) h+l = 34
ME LM% (P) Tl R %

* 0 FE A 183K




%
%
#
7‘]6

EREl mox & w mox M OB PEE

ML | Bk 3% s LB I
htk= 258 O T #0 A B c
AHI=4 % B i oL 1 B B
k=% % A #.0 A B A
b k. LTI A i s S B F
~h+EHIAR I MEER | LARARMARREN=SFAK R
R+EHIRH 3 | LEhRMRHRLRRTARE H

okl | E=An (100) M FB T, B A B/2 | 5P, B, 0)
=18 (OB E, B Re/2 ce(P,C, )
k40 =28 (100) B FE 1, HHFERb/2+¢/2 ni{ F)
k+1 24 Rt i (LOOY I FB i, iR BB R/ 4+e/t | d(F)

RO ) R=F % (M)W, (Y B Ha/2 a(P, 4, I}
(=38 (M)W &, i BERc/2 elP, A,
hhl =AM (IOVRET, s Hal2+e/2 | nlP)
BHIAH 4 R(ER LOVEB, T Rald+e/s | diF)

k&0 b= A ¥ (ORI, i FRal2 a(P, B, I}
k=3 R (01 EEF, a2 b(P, A, B)
Btk 4 8 (001 FE W, iF ¥ Ba/24-0/2 | (P}

A+ AL 4 BfE (COL)FHERE, B Ea/1+0/4 | d(F)



kAl I 378 NI, W ke/2 e{P,, F}

b= 2% A1, i Ra/2+0/2 | 8(0)
: CLLO) R B i, 7 5 &

Aot L =BT 4 a/4-+b/d+eld n{C)
WEIRRA RN (LRI, TR b

R0 ke A 100 ]8R EESH, FH Ra/2 21, 42
AL ER (100788 5 4h, V- F5 Ba/d 4, 4

0RO (k=¥ [01074R e Bh, T8 &h/2 21, s
kAR 4 iR (OL0TER T qh. FFE iR/ 4 41, 4

00! | I=7i4 (001 ]88 sy, 1 8 Bie 2 21 41, By
SRR (001 1%R ek, T-H /3 3. 35, B34 64
W RN 0] i 1 L0071 SRBER. FE hteld 41, 42
A6t (OO LM, Fifdie! 61,62

hRD | h=FF (110 B, THua2+0/2 | &




: D

r AT ARE
SR X,

% I8 2%
\ \ ARk @%ggh\ﬁ&ﬁ/

ARYE B GoH VT M <




